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TRAINING INSTITUTE, PUNE 
 

Time Allowed: 3 Hours      Maximum Marks: 300 

 

PART - I (GS) and PART - II (CSAT) 

 
INSTRUCTIONS 

 

1. Immediately after the commencement of the examination, you should check that this test booklet does 

not have any unprinted or torn or missing pages, etc. If so, request for its replacement. 

2. You have to enter your seat number on the test booklet in the box provided alongside. DO NOT write 

anything else on the test booklet. 

 

3. This test booklet contains 135 questions divided in two parts as shown below. 

Part No. of 

Questions 

Marks Negative Marks 

I 75 150 One third for each wrong answer 

II 60 150 One third for each wrong answer Except for Question Nos. 130 to 135. 

Each question is printed both in English and Hindi.  

Each question comprises four responses (answers). You have to select the response which you want to 

mark on the answer sheet. In case you feel that there is more than one correct response, mark the 

response which you consider the best. In any case, choose ONLY ONE response for each question. 

4. You have to mark all your responses one by one ONLY on the separate OMR answer sheet provided. 

5. Before you proceed to mark in the answer sheet the response to various items in the test booklet, you 

have to fill in some particulars in the answer sheet as per instructions contained in your admit card. 

6. After you have completed the marking of all your responses (by darkening the response circle 

completely) on the answer sheet and the examination has concluded, you should hand over to the 

invigilator only the OMR answer sheet. You are permitted to take away with you the test booklet. 

7. Sheets for rough work are appended in the test booklet at the end. 

8. Penalty for wrong answers : 

THERE WILL BE PENALTY FOR WRONG ANSWERS MARKED BY A CANDIDATE EXCEPT 

FOR QUETIONS FROM 130 TO 135 WHICH DO NOT CARRY ANY PENALTY FOR WRONG 

ANSWER. 

i. There are four alternatives for the answer to every question. For each question for which a wrong 

answer has been given by the candidate, one-third of the marks assigned to that question will be 

deducted as penalty. 

ii. If a candidate gives more than one answer, it will be treated as a wrong answer even if one of 

the given answers happens to be correct and there will be same penalty, as above, to that 

question. 

iii. If a question is left blank, i.e. no answer is given by the candidate; there will be no penalty for 

that question. 

9. Final result of this examination will be declared on our website https://barti.maharashtra.gov.in 

 

Note: Hindi version of the instructions is printed on the back cover of this test booklet. 
 

Seat number-  



3 
 

                                                 PART-I 

1. Which of the following statement is 

true for the selection procedure of the 

CAG? 

(a) He is selected by a collegium 

consisting of  Prime Minister, Leader of 

Opposition and Finance Minister. 

(b) He is selected by a collegium 

consisting of Prime Minister, Leader of 

opposition, Chief Justice of India and 

Finance Minister. 

(c) He is selected by Prime Minister as per 

the Audit manual. 

(d) He is appointed by the President but 

the manner of selection is not clearly laid. 

2. Match List I with List II: 

List I    List II: 

(A) Myopia              (i) image forms  

                                     Behind retina 

(B) Hypermetropia  (ii) image forms in  

     front  of retina 

(C) Astigmatism      (iii) lack of conical   

      cells 

(D) Colour blindness (iv) structure of  

cornea becomes           

abnormal 

 

Code– 

A  B  C  D 

(a)  (i)  (ii)  (iii)  (iv) 

(b)  (ii)  (i)  (iv) (iii) 

(c)  (i)  (ii)  (iv) (iii) 

(d)  (ii)  (i)  (iii)  (iv) 

3. Which planet equated as a „hot 

jupiter‟ has been discovered using 

Einstein's theory of relativity located 

about 2000 light years from Earth in the 

constellation Cygnus? 

 

(a) "Einstein's planet", formally known as 

Kepler- 76b 

(b) "Einstein's planet", formally known as 

Jup-76b 

(c) "Kepler planet", formally known as 

Kepler-76b 

(d) None of these 

4. Which of these are true for drip 

irrigation? 

 

(i) It is water economical technology. 

(ii) It involves reaching water directly to 

the roots of the plants saving water loss in 

transmission. 

(iii)It is a boon for arid and semi-arid 

areas. 

(iv) India has benefitted from the scientific 

knowledge of Israel in Drip irrigation. 

 

Code– 

(a) (i) and (ii)         (b) (ii) and (iii) 

(c) (i) (ii) and (iii)  (d) (i), (ii), (iii) and (iv) 

 

 

5. Which of the following statement is 

not correct regarding Indian coal? 

 

(a) Indian coal is of two categories viz 

Gondwana coal and Tertiary coal. 

(b) Gondwana coal is superior with high 

carbon content and is mainly of 

bituminous and anthracite categories. 

(c) Famous fields of Raniganj (West 

Bengal), Jharia (Jharkhand), Bokaro 

(Jharkhand), Ramgarh (Jharkhand), and 

Neyvelli (Tamilnadu) are some examples 

of Gondwana coal mines. 

(d) Tertiary coal is also called brown coal. 

It contributes only 2% of total coal 

production.The carbon content is low and 

varies from place to place e.g. 30% in 

Gujarat & Rajasthan, 50% in Assam. 
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1. 

 

(a) 

(b) 

(c) 

(d) 

 

2. I II 

I    II 

 

(A) (i) 

(B) (ii) 

(C) (iii) 

(अस्टिग्मटिज़म)
(D) (iv) 

       A  B  C  D 
(a)  (i)  (ii)  (iii)  (iv) 
(b)  (ii)  (i)  (iv) (iii) 
(c) (i)  (ii)  (iv) (iii) 
(d) (ii)  (i)  (iii)  (iv) 

 

3. 

(a) 

(b) 

(c) 

(d) 

4. 

 

(i) 

(ii) 

(iii) 

(iv) इज़राइल

(a) (i) (ii)         (b) (ii) (iii) 

(c) (i), (ii) (iii)   (d) (i), (ii), (iii) (iv) 

5) 

 

(a) 

(b) 

(c) 

(d) 
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6. Which of the following is not true for 

Mount batten Plan of June 3rd 1947? 

 

(a) It was formed on the basis of Cabinet 

Mission plan and Atlee's statement of 

February 20, 1947. 

(b) Sindh was to take its own decision 

while the fate of Sylhet and North-West 

Frontier Province was to be decided on the 

basis of referendum. 

(c) Independence of the princely states and 

Bengal got ruled out. 

(d) Accession of Hyderabad to Pakistan 

got ruled out. 

 

 

7) Which of the following is not true 

about cyclone? 

 

(a) It is an atmospheric system which is 

characterized by the rapid inward 

circulation of air masses about a low-

pressure centre. 

(b) Cyclones circulate clockwise in the 

Northern Hemisphere and anticlockwise in 

the Southern Hemisphere. 

(c) Cyclonic storm named Phailin had hit 

eastern states of India in the month of Oct 

2013. 

(d) None of these. 

 

8. What among these was not part of 

Cripps proposal? 

 

(a) The goal was to provide attainment of 

the Dominion Status to India. 

(b) Indians were to be given the right to 

frame the Dominion Constitution after the 

World War II. 

(c) The constitution-making body for this 

purpose would constitute elected members 

from the British territories and also the 

representatives from all the Native States . 

(d) However, for the present, the British 

Govt. Was to continue as before and the 

responsibility for the defence and security of 

India was to be retained by the British Govt. 
 

 

9) Which of the following was a key 

issue between moderates and extremists 

leading to Surat split of 1907? 

 

(a) Acceptance of separate electorates for 

muslims. 

(b) Dropping of the resolutions on 

swadeshi, boycott and national education 

adapted in Banaras Session. 

(c) Making S.N. Banerjee as President of 

the Surat Session as insisted by moderates. 

(d) Expansion of the extremist branches all 

around India. 
 

10) What is biogeochemical cycle? 

 

(a) The cycle in which a chemical element 

or molecule does a movement through 

both biotic and abiotic components of 

Earth. 

(b) The cycle of pollution having a genesis 

from organic matter under the earth. 

(c) The cycle of pollution having a genesis 

from both organic matter as well as 

geological formations. 

(d) None of these. 

11. The Ocean is not just a water body. 

It has components which can be drawn 

on paper called hypsometric curve. 

Which of the portion starts below low 

tide level and 100 fathom (180 m), has 

gentle seaward slope (1 degree) and has 

deposition of the eroded material 

brought by rivers and glaciers? 

 

(a) Continental Shelf (b) Continental rise 

(c) Abyssal plain       (d) Deeps or trenches 

 

 

 

 

 

 



6 
 

(a) 

(b) 

(c) 

(d) 

 

 

7) 

(a) 

(b) 

(c) 

(d)  

 

8) 

(a) 

(b) 

(c) 

(d) 

(a) 

(b) 

(c) 

(d) 

(a) 

(b) 

(c) 

(d) 

(a) 

(b) 

(c) 

(d) 
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12. Which of the following is not true 

regarding the rubber plantation in the 

world? 

 

(a) It is widely grown in the Amazon 

region in South America. 

 

(b) Asian countries Malaysia, Indonesia, 

Thailand, Vietnam and Cambodia are big 

producers which have equatorial 

conditions. 

 

(c) Liberia, Nigeria and Congo in Africa 

are the leading producers where the 

transportation is an advantage compared to 

South America as most of the plantation is 

close to rivers and coast. 

 

(d) America and Europe are the other 

exporters of natural rubber. 
 

13. Which of the following factors are 

mentioned in the proposed Assisted 

Reproductive Technology Bill of 

Government of India? 

 

1. ‗Homosexual Couple‘ will not be 

eligible to have the child through surrogate 

mother. 

 

2. The first attempt to regulate commercial 

surrogacy has been made in the bill. 

 

3. The age limit is set for surrogate 

mothers. 

 

4. Nationality related issues of child born 

through this technology are associated 

with this bill. 
 

Code: 

(a) 1 and 3   (b) 1, 2 and 4 

(c) 2, 3 and 4  (d) All of the above 

 

14. Which of the following statement is 

wrong? 

 

(a) Poverty, high population pressure on 

land, lack of basic amenities and natural 

disasters are some of the push factors in 

migration. 

 

(b) Willy-willy, Typhoon, Hurricane are 

Tropical cyclones. 

 

(c) Arakan Yoma located in Myanmar is 

the eastward extension of the Himalayas. 

 

(d) Seismograph is the instrument to 

predict earthquakes by detecting the S 

waves which arrive earlier than P waves as 

they are faster. 

 

15) A few month ago, an agreement 

signed between India and Bangladesh 

regarding exchange of Foreign 

Enclaves. Consider the following 

statements in this regard– 

 

1. Indian constitution (119th) amendment 

bill, 2013 is associated with it. 

 

2. Residents of the enclaves will receive 

better facilitation through this. 

 

Code: 

(a) only 1          (b) only 2 

 

(c) Both 1 and 2     (d) Neither 1 nor 2 

 

16) In recent days, a heavy downfall 

shown in the value of Indian rupee. In 

this regard what of the following 

useful steps can be taken? 

 

1. Creating an investment friendly 

environment in manufacturing sector. 

 

2. Minimising the fuel subsidy. 

 

3. Controlling the Current Account Deficit. 

 

Code: 

(a) 1 and 2  (b) 1 and 3 

(c) 2 and 3  (d) 1, 2 and 3 
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12) 

 

(a) 

(b) 

(c) 

(d) 

 

13) 

 

(a) (b) 

(c) (d)  

14) 

 

(a) 

(b) 

(c) 

(d) 

भहीने

(a) (b) 

(c) (d) 

(a) (b) 

 

(c) (d) 
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17) Direction: The following question 

consists of two statements; one labelled 

as the „Assertion (A)‟ and the other as 

„Reason (R)‟. You are to examine these 

statements carefully and select the 

answers to these items using the codes 

given below: 

Assertion (A): All the hot deserts in the 

world are located between from 20° to 30° 

latitudes. 

Reason (R): Due to subsidence of air in 

between latitudes from 20° to 30° 

anticyclonic conditions arise. 

 

Code – 

(a) Both A and R are individually true and 

R is the correct explanation of A. 

(b) Both A and R are individually true but 

R is not the correct explanation of A. 

(c) A is true but R is false. 

(d) A is false but R is true. 
 

18) Which of the following statements 

are true in context to Sedimentary 

Rocks? 

 

1. Water provides proper conditions for 

sedimentary deposition, hence most 

Sedimentary Rocks are formed below 

water. 

2. Boulder Clay is an example of 

Sedimentary Rocks formed by glacier. 

3. Rock Salt, Gypsum and Saltpeter are 

examples of Sedimentary Rocks formed by 

chemical method. 

4. All Sedimentary Rocks maintain their 

general basic properties. 

Code: 

 

(a) 1 and 2  (b) 1 and 3 

(c) 1, 2 and 3  (d) All of the above 
 

19)  Which of the following statement(s) 

is/are correct in context to „Kirobo‟? 

1. This is the first talking Robot in the 

world. 

2. The inspiration of its design has been 

adopted from the famous animated 

character Astro-boy. 

3. This robot has the capacity to recognise 

the voice and face. 

Code: 

 

(a) only 2  (b) 1 and 3 

(c) only 1  (d) All of the above 

20) Consider the following statements 

regarding Antarctica Continent– 

 

1. Queen Mod Mountain Range divides 

this continent into two equal parts. 

2. It's only active volcano is Mount 

Erebus. 

3. It's highest peak is Vinson Massif. 

4. It has six months of night after north 

solstice and six months of day after south 

solstice. 

Which of the above statements are 

correct? 

(a) 1, 2 and 3  (b) 2, 3 and 4 

(c) 1, 2 and 4  (d) All of the above 

21) Which of the following facts are 

responsible for seasons? 

 

1. The rotation of the earth is from west to 

east. 

2. The earth's axis has an inclination. 

3. The earth has a revolution around the 

sun. 

Code: 

(a) only 2  (b) only 3 

(c) 2 and 3  (d) 1, 2 and 3 

22. Which of the following effective step 

is being followed to control the atomic 

programme of Iran? 

(a) Imposing harsh sanctions on Iran. 

(b) Finding solution through negotiation. 

(c) Offering Iran some relaxations in trade 

sector. 

(d) Both (b) and (c) 
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17) ननदेश: 
(A) (R)

 (A): 20° 

30°

 (R): 20° 30° 

(a) A R R, A 

(b) A R R, A 

(c) A R 

(d) A R  

 

(a) (b) 

(c) (d) 

(a) (b) 

(c) (d) 

(a) (b) 

(c) (d)  

(a) (b) 

(c) (d) 

(a) 

(b) 

(c) 

(d) (b) (c)  
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23) Which of the following statements 

are true for the ordinary bill of Union 

and State Legislature? 

 

1. The ordinary bill of Union and State 

Legislature can be introduced in both the 

houses of legislature. 

2. The ordinary bill of Union and State 

Legislature can be introduced by minister 

or a private member. 

3. While Lok Sabha cannot override the 

Rajya Sabha by passing the bill for the 

second time, Legislative Assembly can do 

so. 

4. There is no provision of joint sitting in 

case of ordinary bills of state legislature. 

Code: 

(a) 1, 2 and 3  (b) 2 and 3 

(c) 1 and 3  (d) All of the above 

24) Which of the following statement is 

not true regarding removal of a judge of 

a High Court? 

(a) A judge of a High Court can be 

removed from his office by passing an 

order by the President. 

(b) The President can issue the removal 

order only after an address by the 

Legislative Assembly of the state which 

has been presented to him in the 

same session for such removal. 

(c) The address must be supported by a 

special majority (i.e. a majority of total 

membership of that House and of not less 

than two-third of the members of that 

House present and voting). The 

Judges Enquiries Act 1968 adds that the 

removal motion must be signed by 100 

members in case of lower house and 50 

members in case of upper house. 

(d) There are two grounds of removal 

proved misbehavior and incapacity. The 

Judges Enquiries Act 1968 adds that the 

removal motion if admitted, the speaker 

leads to setting up of three member 

committee to investigate the matter. 

 

 

25) Doing business in India is becoming 

tedious according to a report issued by 

World Bank. In this regard, which of 

the following factors validate this 

statement? 

 

1. Delay in implementation of the 

agreements. 

2. Obstruction in electricity supply. 

3. Presence of red tapism. 

4. Problems related to tax claims. 

Code: 

(a) 1, 2 and 3  (b) 1, 2 and 4 

(c) 1, 3 and 4  (d) All of the above 

26) Direction: The following question 

consists of two statements; one labelled 

as the „Assertion (A) ‟ and the other as 

„Reason (R) ‟. You are to examine these 

statements carefully and select the 

answers to these items using the codes 

given below: 
Assertion (A): 91st amendment layed 

down the limits of the strength of council 

of ministers of centre but not state. 

Reason (R): The formation of the ministry 

in state is a prerogative of the Chief 

Minister. 

Code: 

(a) Both A and R are individually true and 

R is the 

correct explanation of A. 

(b) Both A and R are individually true but 

R is not 

the correct explanation of A. 

(c) A is true but R is false. 

(d) A is false but R is true. 
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(a) 1, 2 3  (b) 2 3 

(c) 1 3  (d)  

(a) 

(b) 

(c) 

(d) 

 

(a) 1, 2 3  (b) 1, 2 4 

(c) 1, 3 4  (d) 

 ननदेश: 
(A) (R)

 (A)- 

(R)- 

(a) 

(b) 

(c) 

(d)  
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27) Which of the following does not 

describe Prime Minister as "Primus 

inter Pares" or "Key stone of the 

Cabinet ARCH"? 

 

(a) He recommends to the President the 

persons who can be ministers. The 

President can appoint the ministers among 

these persons only. 

(b) He allocates and reshuffles various 

portfolios among ministers; guides, 

controls and co-ordinates ministers. He 

can ask ministers to resign or can ask the 

President to dismiss a minister in case of 

differences with him. 

(c) His resignation leads to automatic 

dissolution of the Council of Ministers. 

(d) A person may be appointed as Prime 

Minister even if he is not a member of 

either of the house. 
 

28) Which of the following are not true 

for The National Commission of 

Scheduled Castes? 

 

(a) The National Commission of SCs came 

into existence in 2004 after 89th 

amendment Act of 2003 which created two 

commissions namely- the National 

Commission of SCs and the National 

Commission of STs. 

(b) Original constitution provided for the 

appointment of a special officer for the 

SCs and STs in article 338 to investigate 

all the matters relating to their safeguards. 

(c) The National Commission of SCs, the 

National Commission of STs and the 

National Commission of Minorities are 

constitutional bodies while the National 

Commission of Backward classes, the 

National Commission of Protection of 

Child Rights and National Human 

Rights Commission are statutory bodies. 

(d) The National Commission of SCs has 

power of a civil court. 
 

 

 

29) Which of the following statements 

are true of Central Vigilance 

Commission? 

1. Central Vigilance Commission is not an 

investigating agency, and works through 

either the Central Bureau of Investigation 

or through the Departmental Chief 

Vigilance Officers. 

2. It functions as both a monitoring agency 

for vigilance activities in government of 

India as well as advising various 

authorities in central Government 

organizations in planning, executing, 

reviewing and reforming their 

vigilance work.  

3. It was set up on the recommendations of 

the Committee on Prevention of 

Corruption headed by Shri K. Santhanam 

and was created as a statutory authority in 

1964. 

4. The Central Vigilance Commissioner or 

any Vigilance Commissioner can be 

removed from his office only by order of 

the President on the ground of proved 

misbehavior or incapacity after the 

Supreme Court, on a reference made 

to it by the President, has, on inquiry, 

reported that the Central Vigilance 

Commissioner or any Vigilance 

Commissioner, as the case may be, 

ought to be removed. 

Code: 

(a) 1, 2 and 4  (b) 1, 2 and 3 

(c) 2, 3 and 4  (d) 1, 3 and 4 
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27) 

(a) 

(b) 

(c) 

(d) 

 

28) 

(a) 

(b) 

 

(c) 

(d) 

 

 

(a) (b) 

(c) (d)  

 

 

 

 

 

 

 

 

 



15 
 

30) Which of the following is wrong 

regarding Fundamental Rights? 

(a) The six fundamental rights recognized 

by the Indian constitution and some of 

them are available to citizens only. 

(b) There are positive discriminations on 

the grounds of religion, race, caste, sex or 

place of birth. 

(c) Equal protection of laws under Art 14 

introduces scope of reasonable basis of 

classification for making differential 

treatment 

(d) Art 20 protects against retrospective 

application of law,self- 

incrimination,double jeopardy,and 

safeguards against preventive detention. 

31) Consider the following conditions: 

1. If a bill passed by one house has been 

rejected by the other house. 

2. If both houses have been finally 

disagreed on amendments to be made in 

the bill. 

3. If other house has not passed the bill 

after completion of 6 weeks after the date 

of receiving the bill. 

Under which of the above conditions, joint 

sitting of the Parliament can be called? 

(a) 1 and 2 (b) Only 2 

(c) 2 and 3 (d) All of the above 

32) Which of the following statements 

are not correct? 

1. In October 2013, the Supreme Court has 

directed Centre/State governments to 

provide 3% reservation in jobs for 

physically challenged people in their all 

departments, companies and institutions. 

2. According to Supreme Court, concept of 

reservation in jobs not more than 50% 

applies on physically challenged people. 

3. According to Supreme Court, this 

reservation should be provided within 6 

months. 

4. The decision of Supreme Court on 

reservation will be applicable on both jobs 

and education. 

Code: 

(a) 1 and 4  (b) 2, 3 and 4 

(c) 1, 3 and 4  (d) 1, 2 and 3 

33) Which of the following statement is 

not correct? 

(a) Most of the Indian iron deposits are 

found in archean rocks of Jharkhand, 

Odisha, Madhya Pradesh, Chhattisgarh, 

Karnataka, Tamil Nadu. 

(b) India is the top most country in 

production and export of manganese in the 

world. 

(c) Madhya Pradesh and Maharashtra 

make for 75% of manganese deposits. 

(d) India is not self sufficient in production 

of Zinc and Lead ores and has to import 

three fourth portion of domestic 

requirement. 

 

34) Match the following cities with their 

temperature details : 

City    Detail 

A. Jaisalmer  1. Humid (in rainfall time) 

    subtropical climate with 

    temperatures varying                

    widely between  

    summer and winter. 

 

B. Amritsar  2. High diurnal 

temperature range, low 

precipitation and high 

annual temperature range. 

 

C. Mumbai  3. Extreme climatic 

conditions with 

very hot summers and 

freezing cold winters. 

Winters have effect 

of western disturbances 

leading to widespread rain 

while dust-storms and 

thunderstorms occur mostly 

in the summer season. 

D. Varanasi     4. Moderately hot and  

    high level of humidity     

with low annual 

temperature range. 

Code: 

A  B  C  D 

(a)  4  3  1  2 

(b)  4  1  3  2 

(c)  2  4  1  3 

(d)  2  1  4  3 
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(a) 

(b) 

(c) 

(d) 

(a) 1 2  (b) 2 

(c) 2 3  (d) 

1. 

2. 

3. 

4. 

(a) 1 4  (b) 2, 3 4 

(c) 1, 3 4  (d) 

(a) 

(b) 

(c) 

(d) 

34) 

A.

B. 

C. 

D. 

A  B  C  D 
(a)  4  3  1  2 
(b)  4  1  3  2 
(c)  2  4  1  3 
(d)  2  1  4  3 
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35. SPIKE is– 

(a) A scheme initiated by United Nations 

to reduce global warming. 

(b) A gene for production of rice which 

has been designed by Japan and 

International Rice Research Institute. 

(c) A new medicine discovered for the 

treatment of cancer. 

(d) A new technique designed for 

controlling the natural hazards. 

 

36) Which of the following industrial 

region has developed due to availability 

of port facilities, cheap skilled as well as 

unskilled labour, cheap land and 

nearness to Petroleum, Thermal and 

Nuclear power station? 

(a) Kolkata-Hugli Industrial Region. 

(b) Ahmedabad-Vadodara Industrial 

Region. 

(c) Madurai-Coimbatore-Bengaluru 

Industrial Region. 

(d) Agra-Delhi-Kalka-Saharanpur 

Industrial Region. 

 

37) It falls in Andhra Pradesh and is 

part of Eastern Ghat.It belongs to 

Cuddapah system. It is repository of a 

number of minerals like mica, iron, 

manganese, limestone, etc. NH 9 passes 

through it. The range is: 

 

(a) Namdapha range (b) Laimatol range 

(c) Anaimalai Hills   (d) Nallamalai range 

 

38) Which of the following statement is 

not true of thermal power in India? 

(a) There is an unevenness in the 

distribution of the thermal power stations. 

(b) The trend of their location is around 

lignite and inferior coal. 

(c) Maharashtra ranks first in the 

production of thermal power followed by 

Uttar Pradesh & Gujarat. 

(d) The Western zone is leader in this 

respect while all of the Northeast states are 

devoid of thermal power plants. 

 

 

 

39) Which of the following statements 

are incorrect regarding non-

conventional energy/renewable energy 

in Indian context? 

1. India is situated at the sub tropical 

latitudes so receives higher amount of 

solar energy and greater part of the country 

has more than 300 solar days. This makes 

solar energy one of the most important 

source of non – conventional  energy. 

2. Gujarat and Tamilnadu have largest 

potential of wind energy. 

3. Muppandal Perungudi area near 

Kanyakumari has the largest installation of 

wind turbines. 

4. India has a very long coastal line but the 

ocean energy production is limited because 

of high cost is required in the construction 

of civil works. 

 

Code: 

(a) 1 and 2  (b) 3 and 4 

(c) 1 and 3  (d) None of the above 

 

40. Which of the following statements 

are true? 

 

1. Teak is a tropical hardwood tree. It is 

essentially a deciduous tree and its growth 

centers around Central and North India. 

2. Gangetic delta at the point of interaction 

at the Bay of Bengal is full of Sunder 

forests. 

3. Sal forests are found in Northern, 

Eastern and Central India but not in deep 

southern India beyond Andhra Pradesh and 

dry western area. 

4. Single horn rhino is a typical species of 

Kaziranga National park. 

Code: 

(a) 1, 2 and 4  (b) 1, 2 and 3 

(c) 2, 3 and 4  (d) 1, 3 and 4 
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(a) 

(b) 

(c) 

(d) 

 

 

(a) 

(b) 

(c) 

(d)  

 

37) 

(a) (b) 

(c) (d) 

(a) 

(b) 

(c) 

(d) 

 

 

 

1. 

2. 

3. 

4. 

(a) 1 2  (b) 3 4 

(c) 1 3  (d) 

1. 

2. 

3. 

4. 

(a) 1, 2 4  (b) 

(c) 2, 3 4  (d) 1, 3 4 
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41)Year 2014 is „Friendship Exchange 

Year‟ for both countries India and 

China due to 60th anniversary of five 

theories of peaceful co-ordination 

(Panchsheel) between India-China. 

Which of the following are possibilities 

in this regard for closeness between 

India-China? 

1. Development of economy and 

improving the standard of living of people. 

2. Co-ordination and co-operation for 

regional and international issues. 

3. Improving international economic 

governance system. 

4. Promoting import from China to India. 

Code: 

(a) 1, 2 and 3  (b) 2, 3 and 4 

(c) 1, 3 and 4  (d) 1, 2, 3 and 4 

 

42) Which of the following statement is 

wrong? 

(a) Largest sink (pollution receptor) of 

earth is Hydrosphere. 

(b) Homeostasis is the balance 

maintenance of nature by certain 

controls(cybernetics). 

(c) Biosphere means complete 

Lithosphere, Hydrosphere, 

and Atmosphere. 

(d) Fluorosis disease caused by excess of 

fluoride is the most prevalent in Rajasthan 

and Gujarat. 

 

43) Which of the following statement is 

wrong? 

(a) A Nation's/Organisation's carbon 

footprint is the sum of all emissions of 

greenhouse gases like Carbon Dioxide. 

(b) Nuclear radiations have both direct and 

indirect effect that biologically important 

molecules such as DNA gets split up by 

ionising radiation as well as indirect effect 

that less important molecules too get 

fragmented which in turn disrupt the 

functioning of more important 

molecules. 

(c) While Ganga Action Plan (GAP) was 

launched in 1985 to improve the quality of 

river Ganga, 

GAP II was initiated in 1993 for abatement 

of pollution in tributaries of Ganga . 

(d) GAP III was initiated in May 2013 

which aimed at diversion of waste 

reaching Ganga with installation of sewage 

treatment plants,management of solid 

waste, installation of crematoriums, low 

cost sanitation and development of river. 

 

44. Which of the following statements 

are correct? 

1. Carbon Monooxide causes adverse 

effects in humans by combining with 

haemoglobin forming carboxyhemoglobin 

in the blood. This prevents hemoglobin 

from releasing oxygen in tissues, 

effectively reducing the oxygen 

carrying capacity of blood, leading to 

hypoxia. 

2. Black Foot disease in Humans is caused 

by Lead. 

3. Black Lung disease in Humans occurs 

in miners while White Lung disease occurs 

in textile industry workers. 

Code: 

(a) 1 and 2  (b) 2 and 3 

(c) 1 and 3  (d) 1, 2 and 3 

 

45) Particulates particularly Respirable 

Suspended Particulate Matter (RSPM) 

i.e Particulates less than 10 micron size 

are very injurious to human health. 

Which of the following diseases are 

caused by these Particulates? 

 

1. Black Lungs disease among the Coal 

miners 

2. Silicosis 

3. Bronchitis 

4. Mental retardation in children 

Code: 

(a) 1, 3 and 4  (b) 1, 2 and 3 

(c) 1 and 2  (d) 1, 2, 3 and 4 
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1. 

2. 

3. 

4. 

(a) 1, 2 3  (b) 2, 3 4 

(c) 1, 3 4  (d)  

 

(a) 

(b) 

(c) 

(d) 

(a) 

(b) 

(c) 

-II 

(d) -III 

 

44) 

(a) (b) 

(c) (d) 

45) 

1. 

2. 3. 

4. 

(a) (b) 

(c) (d) 
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46) Which one of the following best 

explains Greenhouse Effect? 

(a) Greenhouse gases in the atmosphere 

absorbing light coming from Sun and then 

sending infrared portion of the light to the 

earth surface causing warming effect on 

earth. 

(b) Greenhouse gases in the atmosphere 

absorbing light coming from Sun and then 

sending ultraviolet portion of the light to 

the earth surface causing warming effect 

on earth. 

(c) Greenhouse gases in the atmosphere 

absorbing infrared radiations emitted by 

hot earth surface and then the greenhouse 

gases re-radiating absorbed infrared 

radiations in all directions causing 

warming effect on earth. 

(d) Greenhouse gases in the atmosphere 

absorbing ultraviolet radiations emitted by 

hot earth surface and then the greenhouse 

gases reradiating absorbed ultraviolet 

radiations in all directions causing 

warming effect on earth. 

 

47) Which of the following is not a 

dimension of the sustainable 

development? 

(a) While resources are used to meet the 

needs of current generation, it does not 

exhaust resources to the extent so as to 

suffer the next generation. 

(b) Keeping a balance between the social 

& economic development protecting the 

nature and its resources. 

(c) The development efforts should have a 

long term perspective. 

(d) Holding the growth and allowing the 

development.     

 

48) Consider the following statements in 

context of "Sahitya Akademi"- 

1. Established as an autonomous institute 

in 1954. 

2. Has recognised 28 languages. 

3. Head quarter in New Delhi. 

4. "Sahitya Akademi Honorary 

Fellowship" is the highest honour of the 

Akademi. 

Which of the above statement(s) is/are 

incorrect? 

(a) 1 and 2  (b) 2 and 3 

(c) Only 2  (d) All of the above 

 

49) Which of the following statements 

are true? 

(1) Bengaluru metro is known as 'Namma' 

metro. 

(2) Mono rail is functioning between 

Vadala & Chembur in Mumbai. 

(3) After completion Mumbai Mono rail 

will be the largest Mono rail project in the 

world. 

Code: 

(a) 1 and 2 (b) 2 and 3 

(c) 1 and 3 (d) 1, 2 and 3 

 

50) Direction: The following question 

consists of two statements; one labelled 

as the „Assertion (A) ‟ and the other as 

„Reason (R) ‟. You are to examine these 

statements carefully and select the 

answers to these items using the codes 

given below: 

Assertion (A): People living at high 

altitude have more number of red blood 

cells in their blood. 

Reason (R): Due to low air pressure and 

low availability of oxygen on high altitude 

more red blood cells are required for 

circulation of oxygen. 

Code: 

(a) Both A and R are individually true and 

R is the correct explanation of A. 

(b) Both A and R are individually true but 

R is not the correct explanation of A. 

(c) A is true but R is false. 

(d) A is false but R is true. 
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(a) 

(b) 

(c) 

(d) 

       

 

47) 

(a) 

(b) 

(c) 

(d)  

 

48) 

(a) (b) 

(c) (d) 

(a) (b) 

(c) (d)  

 

50) ननदेश: 
(A) (R)

A  

 (R): 

(a) A R R, A 

(b) A R R, A 

(c) A R 

(d) A R  
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51) Which of the following statements 

are false in context to "MP Local Area 

Development Scheme"? 

1. This scheme was started by Government 

of India on 23rd December, 1993. This 

scheme is under Ministry of Rural 

Development.  

2. It is completely Government of India 

financed Scheme, under which states are 

issued grant in the form of special central 

aid. 

3. Funds released under the scheme are 

non lapsable, they can be carried forward 

as per requirement. 

4. Examining the eligibility, sanctioning, 

selection of implementing agencies, 

prioritization etc. All these works are done 

by the MP himself. 

Code: 

(a) 1 and 2  (b) 2 and 3 

(c) 1 and 4  (d) 3 and 4 

 

52) Payment of MGNREGA wages is 

provided through post offices. Which of 

the following provisions are made under 

it? 

1. Payment through saving bank accounts 

of post offices. 

2. Receiving a definite service charge from 

beneficiaries for opening account and 

withdrawing money. 

3. Payment of wages within mentioned 

time period. 

4. Provision of depositing one month wage 

in advance in General Post Office of the 

district headquarter. 

Code: 

(a) 1, 2 and 4  (b) 1, 3 and 4 

(c) 2 and 4  (d) 1, 2, 3 and 4 

 

53) Which of the following statement(s) 

is/are wrong? 

1. Sundew is an insectivorous plant. 

2. Plants and some creatures like sponge 

do not have nervous system. 

3. Flat worms found in fresh water 

locomote with the help of Cilia. 

4. The muscle tissue present on the body 

wall of Leech helps in its locomotion. 

5. Earth worms use their sensory organs 

for locomotion. 

Code: 

(a) Only 5   (b) 3 and 5 

(c) 1, 2, 3 and 4  (d) 2 and 3 

 

54) Which of the following statement is 

correct in the context of vitamins? 

(a) Vitamins are major source of energy to 

human body. 

(b) Many chemical reactions occuring in 

human body take place only through 

vitamins. 

(c) Due to deficiency of vitamin K in diet, 

skin of gums gets cracked. 

(d) Vitamin D is not water soluble. 

 

55) Consider the following statements: 

1. Military schools work under a society. 

State governments have no role in this. 

2. Five Military Schools in India are in 

Karnataka, Himachal Pradesh, and 

Rajasthan. These schools admit boys in 

Class-6 on the basis of All India Entrance 

Examination. 

3. Directorate General of Quality 

Assurance is an organisation under the 

Department of Defence Production which 

is responsible for quality storage and final 

acceptance of military aircrafts, 

equipments, other aviation objects. 

4. The primary objective of Directorate of 

Standardisation is to establish equality in 

equipments and components among all 

three services so that overall inventory of 

the Defence Services is reduced to the 

minimum. 

Which of the above statements are 

correct? 

(a) 1, 2 and 3  (b) 2, 3 and 4 

(c) 3 and 4  (d) 1, 2, 3 and 4 
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(a) (b) 

(c) (d)  

 

(a) 1, 2 4  (b) 1, 3 4 

(c) 2 4  (d)  

 

(a) 5    (b) 3 5 

(c) 1, 2, 3 4  (d)  

 

54) 

(a) 

(b) 

(c) K 

(d) D  

 

(a) 1, 2 3 (b) 2, 3 4 

(c) 3 4 (d)  
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56) Which of the following statements 

are correct? 

1. Value of gravitational acceleration at 

equator is less than its value at pole. 

2. When going upward from the earth, 

effective radius increases and as a result, 

value of gravitational acceleration 

decreases. 

3. Effective radius decreases when going 

inside the earth and as a result, value of 

gravitational acceleration decreases. 

4. If speed of rotation of earth increases 

then gravitational acceleration will 

decrease at all points on the earth. 

Code: 

(a) 1 and 2  (b) 3 and 4 

(c) 1, 3 and 4  (d) 1, 2 and 3 

 

57) Arrange the following 

Electromagnetic radiations in 

decreasing order of energy: 

1. X Rays  2. Gamma Rays 

3. Ultraviolet Rays 

Code: 

(a) 1, 2, 3  (b) 2, 3, 1 

(c) 2, 1, 3  (d) 3, 2, 1 

 

58) Consider the following statements: 

1. Department of School Education and 

Literacy and Department of Higher 

Education both are departments of 

Ministry of Human Resources 

Development.  

2. The number of children of scheduled 

caste going to school under Sarva Shiksha 

Abhiyaan (SSA), is increased and number 

of school dropouts is reduced. 

3. "Sarva Shiksha Abhiyaan" is one of the 

major programmes in Indian social sectors 

for universalization of elementary 

education. This Abhiyaan is implemented 

with the help of Central Government. 

4. In Mid Day Meal Scheme, there is 

partnership of 90:10 between Centre and 

North Eastern states and of 75:25 with 

other states or Union territories for the cost 

of cooking food. 

Which of the above statements are 

correct? 

(a) 1, 2 and 3  (b) 1, 2 and 4 

(c) 2, 3 and 4  (d) 1, 2, 3 and 4 

 

59) Which of the following are solutions 

to rupee slide in short and long term? 

1. Attracting Non Resident Indians and 

foreign deposits in Indian and Foreign 

banks. 

2. Indian companies including performing 

Public Sector Undertakings going abroad 

for profitable projects. Promoting 

alternatives by increasing governmental 

support to such projects. 

3. Increasing exports by looking for new 

markets and raising the subsidy support for 

exporters under Duty Draw Back Scheme 

and raising the import duty on Gold. 

 

Code: 

(a) 2 and 3  (b) 1 and 3 

(c) 1 and 2  (d) 1, 2 and 3 

 

60) Which of the following statement is 

incorrect for Vicious Circle of Poverty? 

(a) It shows that the poverty is a self 

reinforcing phenomenon. 

(b) It shows the need of external 

intervention to break out the cycle. 

(c) It shows that the poverty is a 

generation to generation phenomenon 

unless intervened to send the poor from 

'vicious cycle' to 'Virtuous Cycle'. 

(d) Food Security Scheme is such scheme 

that can send the poor from 'Vicious Cycle' 

to 'Virtuous Cycle'. 

 

61) According to Census 2011, which 

sequence iscorrect for ascending order 

to Child Sex Ratio? 

(a) Haryana, Punjab, Jammu Kashmir, 

Himachal Pradesh 

(b) Haryana, Punjab, Himachal Pradesh, 

Jammu Kashmir  

(c) Punjab, Haryana, Jammu Kashmir, 

Himachal Pradesh 

(d) Punjab, Haryana, Himachal Pradesh, 

Jammu Kashmir  
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(a) 1 2  (b) 3 4 

(c) 1, 3 4  (d) 

(a) 1, 2, 3  (b) 2, 3, 1 
(c) 2, 1, 3  (d) 3, 2, 1 
 

58) 

(SSA) 

(a) 1, 2 3  (b) 1, 2 4 

(c) 2, 3 4  (d)  

 

59) 

(a) 2 3  (b) 1 3 

(c) 1 2  (d)  

 

60) 

(a) 

(b) 

(c) 

(d) 

 

61) 

(a) 

(b) 

(c) 

(d)  
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62) Which of the following statement is 

wrong? 

(a) If the value of rupee falls against 

dollar, one may expect price of gold to 

rise. 

(b) Keeping interest rates and repo rates 

high has been the strategy of RBI to check 

inflation. 

(c) US Food and Drug Administration 

(USFDA) is doing inspections of facilities 

of drug makers in India and got Ranbaxy 

punished in US court in early this year. 

(d) M2 money is M1+ Savings deposit 

with post office saving while M3 money is 

M1+ time deposits with the banks. 

Liquidity goes on increasing from M1 to 

M4. 

 

63) Match the following growth related 

to ongoing works undertaken by India: 

Term    Remark 

A. SFURTI  1. Development of railway 

     corridor. 

 

B. e-biz  2. Development of     

industrial corridor. 

 

C. DFCC  3. Enhancement of the 

G2B interaction. 

 

D. DMIC  4. Cluster based 

development 

of traditional industries. 

Code: 

A  B  C  D 

(a)  4  3  1  2 

(b)  4  2  3  1 

(c)  3  4  1  2 

(d)  3  1  4  2 

 

64) Which of the following statement is 

incorrect for Differential Rate of 

Interest Scheme (DRI) 1972? 

(a) It replaced the lead bank scheme of 

1969. 

(b) It provided finance for the bank at a 

concessional rate of interest of 4 per cent 

per annum to the weaker sections of the 

community for engaging 

in productive and gainful activities so that 

they could improve their economic 

conditions. 

(c) The banks are required to lend under 

the Scheme, at least one per cent of their 

aggregate advances at the end of the 

previous year. 

(d) 2/3rd of the total DRI advances must 

be routed through the bank's rural and 

semi-urban branches. 

 

65) Consider the following statements: 

1. As a completely subsidiary of Reserve 

Bank of India, National Housing Bank was 

established through parliamentary act. This 

is an apex financial institution for housing. 

2. Kisan Credit Card Yojana is being 

implemented by all districts Central Co-

operative Banks, Regional Rural Banks 

and Commercial Banks of Government 

Sector. This Yojana is the most 

affective means for distribution of 

agriculture debt. 

3. SIDBI is the major financial institution 

for promotion, financing and development 

of only 

small and medium enterprises sector. 

4. Jan Shri Insurance Scheme is a new 

collective insurance scheme. Under this 

people living below poverty line in both 

rural and urban regions are provided life 

protection. 

Which of the above statements are 

incorrect? 

(a) 1, 3 and 4 (b) 3 and 4 

(c) 2, 3 and 4 (d) 1 and 4 
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(a) 

(b) 

(c) 

(d) M2 M1+ 

M3 M1+ 

M1 M4 

 

63) 

A. SFURTI  

B. e-biz  

C. DFCC  G2B 

D. DMIC  

A  B  C  D 
(a)  4 3  1 2 
(b)  4  2  3 1 
(c)  3  4  1  2 

(d)  3 1 4  

 

64) (DRI) 

(a) 

(b) 

(c) 

(d) 

 

(a) (b) 

(c) (d)  
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66) Which of these factors are necessary 

for a market to have a perfect 

competition? 

1. There is no entry barrier for new 

entrants. 

2. Very large number of sellers and buyers. 

3. Sellers have no power to influence the 

market price. 

4. Perfect knowledge of all aspects with all 

players in the market. 

Code: 

(a) 2 and 3  (b) 1 and 3 

(c) 1, 2 and 3  (d) 1, 2, 3 and 4 

 

67) Which of the following statements 

are correct regarding Social 

Development Index 2014? 

1. Total 130 countries are included in this 

list. 

2. Out of BRICS countries only India is 

rated below 100. 

3. This index uses measures such as food, 

shelter, education, personal freedom. 

4. This index is released by the Economic 

and Social Council of United Nations. 

5. New Zealand is on the top and Chad is 

at the bottom of this list. 

Code: 

(a) 1, 2 and 3  (b) 2, 3 and 4 

(c) 2, 3 and 5  (d) 3, 4 and 5 

 

68) Ramesh and Krishan went from 

village to study in a city for Chartered 

Accountancy. Both have done the 

course successfully. Ramesh is back in 

the village and wants to do Chartered 

Accountancy in the village but there is 

no job in the adjoining area. Krishan is 

still waiting in the city and applying for 

jobs. Which kinds of unemployment are 

they facing? 

(a) Ramesh- Cyclical Unemployment and 

Krishan- Structural Unemployment 

(b) Ramesh- Structural Unemployment 

and Krishan - Frictional Unemployment 

(c) Ramesh- Frictional Unemployment and 

Krishan - Structural Unemployment 

(d) Ramesh - Cyclical Unemployment and 

Krishan-Frictional Unemployment 

 

69) Which of the following statements 

are correct regarding current status on 

the possibility of a convict for contesting 

election? 

1. Supreme Court's initial judgement said 

that only a voter can contest election and a 

person in detention - be it in police 

custody or in jail has no right to vote. 

2. The legislature restored the status quo 

by bringing the amendment that a person 

cannot cease to be a voter while in 

detention as his or her right is only 

temporarily suspended. Thus 

a person, who is in jail or under police 

custody, could contest election to 

legislative bodies. 

3. But later, the amendment was struck 

down by the Supreme Court. Thus now a 

person in detention- be it in police custody 

or in jail has no right to vote. 

Code: 

(a) 1 and 2 (b) 1 and 3 

(c) 1, 2 and 3 (d) None of these 

 

 

 

70) Which of the following is the 

indicator of some sort of religion in 

findings of Mehrgarh's earliest village 

findings? 

(a) Rectangular houses with four 

compartments. 

(b) Indication of some sort of storage 

facility in the houses. 

(c) Burial of goats alongside humans. 

(d) Excavation of bones of pigs and deer. 
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(a) (b) 

(c) (d)  

(a) (b) 

(c) (d)  

(a) 

(b) 

(c) 

(d) 

(a) (b) 

(c) (d) 

 

(a) 

(b) 

(c) 

(d)  
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71) Banks have brought CTS system 

which is in news. Which of the following 

statement is wrong in this regard? 

(a) Banks are going for bringing the CTS 

system of transaction. 

(b) The Cheque Truncation System (CTS) 

is a magnetic ink character recognition 

system. 

(c) Under CTS, the cheque does not need 

to be physically sent from one bank to 

another before payment to the depositor. 

Instead the image of the cheque is sent 

electronically. 

(d) It thus enables an immediate payment 

by cutting down the time of physical 

transaction of the cheque which saves the 

delay in amount realisation. 

 

72) The spoon used for opening cap of 

Can and Scissor work as lever. In this 

context, which of the following will be 

the definite direction of Effort, Load 

and Fulcrum? 

(a) Effort and Load will be in one direction 

whereas Fulcrum will be in opposite 

direction. 

(b) Fulcrum and Load will be in one 

direction whereas Effort will be in the 

opposite direction. 

(c) Fulcrum and Effort will be in one 

direction whereas Load will be in the 

opposite direction. 

(d) None of the above. 

 

73) Which of the following statement is 

wrong regarding International Labour 

Organisation? 

(a) The unique tripartite structure of the 

International Labour Organisation gives an 

equal voice to workers, employers and 

governments. 

(b) Main aims of the Organisation are to 

promote rights at work, encourage decent 

employment opportunities, enhance social 

protection and strengthen dialogue on 

work-related issues. 

(c) Its vision is based on the premise that 

universal peace can be established only if 

it is based on social justice. 

(d) Headquarter of the Organisation is in 

New York. 

 

74) Which of the following statements 

are correct regarding activities related 

to India during first World War? 

1. In 1915, Raja Mahendra Pratap and 

Barkatullah established a provisional 

government in Kabul. 

2. In this goverment, Barkatullah was 

president and Raja Mahendra Pratap was 

Prime Minister. 

3. During first World War, Gandhiji 

encouraged people to join army for which 

people started calling him 'Recruiting 

Agent'. 

4. First Annie Besant and then Tilak 

established their Home Rule League to 

start Home Rule Movement. 

Code: 

(a) 1, 2 and 3  (b) 1 and 3 

(c) 3 and 4  (d) 1 and 4 

 

75) Which of the following statement is 

wrong in the context of Civil 

Disobedience Movement? 

(a) There was a negligible participation of 

Muslims in this movement. 

(b) In this movement Women participated 

small with enthusiasm. 

(c) In Assam a movement against 

infamous 'Cunningham Circular' was run 

in parallel with this movement. 

(d) Terms like Magical Lamp, Vanar Sena, 

Majeri Sena were in talk during this 

movement. 

 

 

 

 

 

 

 

 

 

 

 

 

 

 



32 
 

(a) 

(b) 

(c) 

(d) 

 

(a) 

(b) 

(c) 

(d) 

(a) 

(b) 

(c) 

(d) 

(a) (b) 

(c) (d) 

(a) 

(b) 

(c) 

(d) 
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PART- II 
 

 

76) In a class, 60% of students are boys. 

44% of students are in the swimming 

team. If 50% of girls are in the 

swimming team, then what is the 

percentage of girls in the swimming 

team? 

 

(a) 45.45%  (b) 55.55% 

(c) 24%  (d) 18.55% 

77) On the basis of the given two facts, 

determine which of the conclusions can 

be most logically drawn. 

 

Fact 1 : India is poorer than Brazil and 

China. 

 

Fact 2 : Life is rosier in that country 

which is more richer than another. 

 

(a) Life in Brazil is rosier than in China. 

(b) Life in India and Brazil is not as rosier 

as in China. 

(c) Life in India is less rosy than either in 

China or Brazil. 

(d) Life in Brazil and China is very rosy. 

 

Directions (Qs.78-80) Read the following 

instructions and answer the questions 

based on it:  

Traffic Jam is a specialty restaurant; it 

is open for business every Monday 

through Saturday but is closed on 

Sunday. Lunch is the only meal served 

on Mondays, Tuesdays and Thursdays. 

Dinner is the only meal served on 

Wednesdays, Fridays and Saturdays. 

The restaurant‟s floors are polished and 

its plants are watered only on days when 

Traffic Jam is open for business, 

according to the following policies. 
 

i) Plants are watered two days each week, 

but never on consecutive days and never 

on the same day when floors are polished. 

 

 

ii)  Floors are polished on Monday and 

two other days each week, but never on 

consecutive days and never on the same 

day when plants are watered. 
 

78) The restaurant‟s floors are polished 

on either: 

 

(a) Tuesday or Wednesday 

(b) Wednesday or Thursday 

(c) Tuesday or Thursday 

(d) Thursday or Friday 

79) If dinner is served on a day when 

plants are watered, which of the 

following must be true? 

(a) Plants are watered on Tuesday. 

(b) Floors are polished on Thursday. 

(c) Plants are watered on Wednesday. 

(d) Floors are polished on Wednesday. 

80) Assume that floors are polished on 

consecutive instead of non consecutive 

days but all other polices are 

unchanged. For how many of the 6 days 

can it be determined both whether 

plants are watered and whether floors 

are polished? 

 

(a) Two  (b) Three 

(c) Four  (d) Six 

81) 24 carat gold is known as pure gold. 

24 carat gold is prepared by mixing 22 

parts of pure gold with 2 parts of either 

silver or copper. Now a day‟s 22 carat 

hall marked jewellery is marked by a 

number (916) which indicates its purity. 

Which number should be marked on 19 

carat jewellery ? 

 

(a) 913  (b) 833 

(c) 792  (d) 750 
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76) 

 
(a) 45.45%     (b) 55.55% 
(c) 24%   (d) 18.55% 

77) 

: 

: 

 

(a) 

(b) 

(c) 

(d) 

: 

i) 

ii)  

 

 

78) 

(a) 

(b) 

(c) 

(d) 

(a) 

(b) 

(c) 

(d) 

 

(a) (b) 

(c) (d) 

 
(a) 913  (b) 833 
(c) 792  (d) 750 

 



35 
 

82) A man works twice as fast as a 

woman. A woman works twice as fast as 

a child. If 18 men can complete a job in 

10 days, how many days would be 

required for 36 women and 72 children 

together to complete the job twice as 

difficult as previous one? 

 

(a) 5 days  (b) 8 days 

(c) 9 days  (d) 10 days 

83) There are three inlet taps whose 

diameters are 1cm, 2 cm and 4 cm 

respectively. The rate of flow of water is 

directly proportional to the square of 

the radius. It takes 10 min for the 

smallest tap to fill an empty tank. Find 

the time taken to fill an empty tank 

when all the three taps are opened? 

 

(a) 0.475 min   (b) 0.575 min 

(c) 0.675 min   (d) 0.695 min 

84) If f(x) = 𝑿𝟓 – 4 𝑿𝟒  + 3 𝑿𝟐 + X – 15, 

then what will be the remainder when 

f(x) is divided by (x – 2)? 
 
(a) 33   (b) – 33 
(c) 32   (d) – 32 

85) If 3x + 7y = 9 

 and 9x + 21 y = 27 

then how many possible (x, y) pairs are 

possible? 

 

(a) 0   (b) 1 

(c) 2   (d) Infinite. 

86) When the price of certian kind of tea 

was reduced by Rs 3/kg, it was found 

that at lower price 3 kg more could be 

bought for Rs 1054 than at the higher 

price. The original price per kg of tea is 

– 

 

(a) Rs 28  (b) Rs 36 

(c) Rs 24  (d) Rs 34 

 

 

Directions for (Q 87- Q 89): Read 

the passages and answer the question 

that follow. Your answers should be 

based on the passages only. 

 

Seeing development in terms of the 

substantive freedoms of people has far-

reaching implications for our 

understanding of the process of 

development and also for the ways and 

means of promoting it. On the evaluative 

side, this involves the need to assess the 

requirements of development in terms of 

removing the unfreedoms from which the 

members of the society may suffer. The 

process of development, in this view, is 

not essentially different from the history of 

overcoming these unfreedoms. While this 

history is not by any means unrelated to 

the process of economic growth and 

accumulation of physical and human 

capital, its reach and coverage go much 

beyond these variables. In focusing on 

freedoms in evaluating development,it is 

not being suggested that there is some 

unique and precise ―criterion‖ of 

development in terms of which the 

different development experiences can 

always be compared and ranked. Given the 

heterogeneity of distinct components of 

freedom as well as the need to take note of 

different persons‘ diverse freedoms, there 

will often be arguments that go in contrary 

directions. The motivation underlying the 

approach of ―development as freedom‖ is 

not so much to order all states—or all 

alternative scenarios—into one ―complete 

ordering,‖ but to draw attention to 

important aspects of the process of 

development, each of which deserves 

attention. Even after such attention is paid, 

there will no doubt remain differences in 

possible overall rankings, but their 

presence is not embarrassing to the 

purpose at hand. 
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(a) 5 (b) 8 

(c) 9 (d) 10 

(a) 0.475 (b) 0.575 

(c) 0.675 (d) 0.695 

f(x) = 𝑿𝟓 – 4 𝑿𝟒  + 3 𝑿𝟐 + X – 15, 

f(x) (x – 2) 

 

(a) 33   (b) – 33 
(c) 32   (d) – 32 

85) 3x + 7y = 9 

9x + 21 y = 27 

(x, y) 

 
(a) 0   (b) 1 

(c) 2   (d) 

Rs 3 

Rs 1054 

 
(a) Rs 28   (b) Rs 36 
(c) Rs 24   (d) Rs 34 

(Q 87- Q 89) 

 

 

 



37 
 

87) According to the passage, what can 

be said about process of development? 

 

(1) It will give freedom to the members of 

the society. 

(2) Its actual impact will be more than 

economic growth or generating human 

capital in the society. 

(3) There is no set benchmark of 

development to remove unfreedom. 

Select the correct answer from the codes 

given below: 

 

(a) (1) and (2) Only   (b) (1) and (3) Only 

 

(c) (2) and (3) Only  (d) All (1), (2) and (3) 

88) What can we infer about the 

approach of “Development as 

freedom”? 

 

(a) It moulds various aspects of 

development into one. 

(b) It generate a healthy debate on various 

dimensions of development. 

(c) It removes the history of unfreedom 

that the member of the society is suffering. 

(d) It takes care of different persons‘, 

diverse freedom needs. 

 

89) According to the passage, 

development as substantive freedom of 

people can be more effective, if? 

 

(a) Development is not treated as 

economic growth alone but a parameter to 

remove different unfreedom component in 

the society. 

(b) Development is not treated as 

economic growth alone but a parameter to 

remove heterogeneity in the society. 

(c) Development is carried on the basis of 

a model where different development 

aspects can be evaluated. 

(d) Development do not generate any 

doubt and it values different persons‘ 

diverse freedom needs. 

 

 

Directions for (Q 90- Q 92): Read 

the passages and answer the question 

that follow. Your answers should be 

based on the passages only. 

 

Physicists are always looking for some 

universal laws or theory or for doing some 

fundamental experiments.In chemistry also 

we do that, we verify theory. In addition 

to everything, there is somethings called 

chemical intuition. People do not talk 

about physical intuition as much as 

chemical intuition. There is a peculiar 

feeling that something will work, why and 

how are unanswered; a new material will 

be formed, a new process will created, etc. 

Chemical intuition is difficult to get; one 

has to work hard for it and over a period of 

years people get it. Some people never get 

it and die without it, after working for 50 

years. Those who have intuition like 

Michael Faraday, one of the greatest 

chemists in the world, do unbelievable 

things. How did Faraday think of 

electricity and magnetism? How did he 

conduct electrolysis experiments when 

electron was not known? It still amazes 

me that he discovered benzene in those 

days. When he made the gold 

nanoparticles first, how did he know they 

were nanoparticles? There was no device 

to measure, no microscope. Those who 

develop this  intuitive ability succeed. That 

is true of all subjects but more so in 

chemistry. 
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87) 

(1) 

(2) 

(3) 

(a) (1) (2)   (b) (1) (3) 

 

(c) (2) (3)   (d) (1), (2) (3) 

(a) 

(b) 

(c) 

(d) 

(a) 

(b) 

(c) 

(d) 

(Q 90- Q 92) 
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90) According to the passage, what do 

we understand by “Chemical 

intuition”? 

 

(1) It is the inner conscience of a 

researcher which even he cannot explain. 

(2) No device can measure it. 

(3) Michael faraday definitely had it. 

Select the correct answer from the given 

codes below: 

 

(a) (2) and (3) Only  (b) (1) and (3) Only 

 

(c) (1) and (2) Only  (d) All (1), (2) and (3) 

91) Which of the following act as a 

distinguishing factor between Physicists 

and Chemists? 

 

(a) Physicists work through laws and 

theory whereas Chemists work through 

intuition as well. 

(b) Unlike Physics effectiveness of 

intuition is more prevalent in Chemistry. 

(c) There is no concept as physical 

intuition in Physics but Chemical intuition 

in Chemistry does exist. 

(d) Physicists rely more on theory and 

laws whereas Chemists rely more on 

intuition. 

 

92) According to the passage, which of 

the following statement/s can be 

inferred? 

 

(1) Scientific instruments cannot act as 

replacement of scientific intuition. 

(2) Extraordinary scientific experiments 

can be achieved not only through theory 

and law but through intuitive ability as 

well. 

Select the correct answer from the codes 

given below: 

 

(a) (1) Only            (b) (2) Only 

 

(c) Both (1) and (2)  (d) Neither (1) nor (2) 

 

 

Directions for (Q 93- Q 95): Read 

the passages and answer the question 

that follow. Your answers should be 

based on the passages only. 

 

A question that arises is regarding the 

place of value system in marketing 

communication. Is it necessary to pursue 

this ‗one-upmanship‘, characteristic of 

consumerism? Why not promote those 

changes related to energy conservation or 

environmental protection or safety, and not 

encourage trends which are addressed to 

the mere looks of a product or to some 

vague concept of user-friendliness? Should 

we encourage this kind of marketing  

communication? Most India companies 

spend about 1 per cent or more of their 

turnover on advertisement, often more 

than what they spend on research and 

development. Is this necessary? Can we 

not rid ourselves of the advertisement 

culture? If the social or commercial 

information to the people, why not give 

this information freely on demand or 

display it in suitable public places in an 

inexpensive manner, as the advertisement 

costs are really finally borne by the 

consumer himself. On the face of it, many 

of these ideas are wonderful. But in real 

life the behaviour patterns of people are 

very complex and there are many 

individual variations. Not everybody has 

the patience to thumb through a directory 

to search out different products. Therefore, 

advertising becomes a useful source of 

information. Rural and urban dwellers, 

poor and rich, literate and illiterate, all 

require a flow of information in various 

forms to know, to choose and to feel that 

they are not being left behind. Besides 

they help people save time which would be 

used in searching out information. 

Regarding the contents and the ethics of 

these messages, most healthy societies 

learn how to come to a dynamic 

equilibrium. 

 



40 
 

90) 

(1) 

(2) 

(3) 

 

(a) (2) (3)   (b) (1) (3) 

 

(c) (1) (2)   (d) (1), (2) (3) 

(a) 

(b) 

(c) 

(d) 

(1) 

(2) 

(a) (1)   (b) (2) 

 

(c) (1) (2) (d) (1) (2) 

(Q 93- Q 95) 
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93) According to the passage, what can 

be considered as the definition of  

 “one-upmanship”? 

 

(a) Art of outdoing the competitor through 

advertisement. 

(b) Winning the competition. 

(c) Spreading the information everywhere. 

(d) Expensive marketing communication   

process. 

94) Why it is not possible to get rid of 

advertisement culture completely? 

 

(a) People are not interested to learn social 

messages in advertisement. 

(b) Diverse background of people can only 

be informed through one single 

advertisement. 

(c) People do not want to waste time on 

Advertisement directory. 

(d) Consumers themselves demand 

advertisement to be displayed to them. 

 

95) Towards the end of paragraph, 

passage is referring to “Dynamic 

equilibrium”. What can be said about 

it? 

 

(a) It is the balance between what 

consumers demand and what society 

needs. 

(b) It is the principle of ethics involved in 

advertisement. 

(c) It is the balance between what 

companies wants to sell and what 

consumers wants to buy. 

(d) It is the principle under advertisement 

where consumers and companies are 

socially conscious. 

 

 

Directions for (Q 96- Q 99): Read 

the passages and answer the question 

that follow. Your answers should be 

based on the passages only. 

 

It appears that in the original conception of 

the present reform process in different 

countries induced by IMF and World 

Bank, there is a re-visit of the unqualified 

laissez-faire paradigm of classical 

economics. Only in its subsequent re-

formulations, the social safety-nets came 

to be emphasised.Different countries have 

adopted different variants of the strategy 

of economic reforms and hence, the effects 

of the reforms would be country specific. 

No general statements about the impacts of 

economic reforms would be proper. Even 

in the European subcontinent, which has 

experienced such reforms for a fairly long 

period, the effects of the reforms for 

different sectors in different countries are 

not uniform. The diverse experiences are 

reported particularly with regard to the 

social impacts of the reforms. From this 

point of view, a study of social impacts of 

reforms in India appears to be enlightening 

and useful. Importance of the social sector 

does not need any more emphasis. The 

human capital revolution of the post- 

1960s and focus on human development 

rather than on income growth have 

brought into a sharp focus the 

indispensable role played by the 

components of social sector in economic 

development. In the present study an 

attempt is made to focus on the impact of 

economic reforms on the social sector in 

India without giving an impression that the 

economic reforms have an impact only on 

the social sector or that the impact on other 

sectors is less important than the impact on 

the social sector. All the same, it must be 

admitted that the social impact of any 

policy change deserves a serious attention 

in view of the fact that these impacts 

would have long term implications for the 

entire economy and the society. 
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93) 

(a) 

(b) 

(c) 

(d) 

(a) 

(b) 

(c) 

(d) 

 

 

95) 

 

(a) 

(b) 

(c) 

(d) 

(Q 96- Q 99) 
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96) Which of the following is logically 

explaining the working area of IMF and 

World Bank? 

 

(a) Both these institutions can interfere on 

economic issues. 

(b) They generalize parameters of 

economic reforms for every country. 

(c) They can redirect the country economic 

policy with their efforts. 

(d) They are proponent of Laissez-faire. 

97) Why different countries are showing 

different characteristics on the impacts 

of economic reforms? 

(1) Different countries have different 

needs. 

(2) Impact of economic reforms varies 

socially from one country to another. 

Select the correct answer from the codes 

given below: 

 

(a) (1) Only           (b) (2) Only 

 

(c) Both (1) and (2)  (d) Neither (1) nor (2) 

98) How India presents a significant 

example of economic reforms impact? 

 

(1) It shows that social indicator of any 

country can change dramatically due to 

economic reforms. 

(2) It shows that economic reforms can 

change social sector more 

comprehensively than any other sector. 

(3) It shows that economic reforms has a 

direct impact on the society. 

Select the correct answer from the codes 

given below: 

 

(a) (1) and (2) Only  (b) (2) and (3) Only 

(c) (1) and (3) Only  (d) All of the above. 

99) What all can be inferred regarding 

Human Capital? 

(1) It paves the way for social sector 

development. 

(2) Prior to 1960, true potential of human 

capital was not very much realized. 

(3) Income growth cannot be equated with 

economic development. 

Select the correct answer from the 
codes given below: 
(a) (1) and (3) Only   (b) (1) and (2) Only 
 
(c) (2) and (3) Only   (d) All (1), (2) and (3). 
 

Directions for (Q 100- Q 101): 
Constitutional Government is a regime type 

that is characterized by the fact that 

"Government" operates within a set of legal 

and institutional constraints that both limit its 

power and protect the individual liberty of the 

citizen of a polity. Central elements of 

constitutional government therefore are the set 

of rules or "basic laws" that establish the 

duties, powers and functions of government 

(the institutional autonomy) and define the 

relationship between state and individual 

(individual autonomy). This complex of 

institutional relations is a regime type, because 

it is fundamentally different from those states 

where the "Rule of Law" is either absent (or 

suspended), or is defined on the basis of other 

principles than "liberalism" (meaning  

commitment to the principles of individual 

liberty, freedom to associate, tolerating other 

person‘s belief and respecting minorities, and 

consenting equal rights to all citizens within 

the polity). Hence, constitutional government 

is based on a "contract" between the 

"Principal" and the "Population" at large and 

that can be considered as an authoritative 

guideline of government. The origins and 

development of "constitutionalism" can be 

traced to its roots in the 18th Century 

enlightenment and the Bourgeois Revolutions 

in the US and Europe. This overview will 

show that at present the meaning of 

constitutional government appears to overlap 

strongly with the idea of the "rule of law" and 

also has influenced the chosen organization of 

the state and the values of a society. Taken in 

this sense Constitutional Government is both a 

principle for organizing public life and a 

framework for assessing the sustainability of a 

political system. It can be considered as one of 

the building blocks of not only organizing a 

society, but also as being crucial for 

understanding how and to what extent national 

government contributes to sustainable 

conditions of society. 
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(a) 

(b) 

(c) 

(d)  

97) 

(1) 

(2) 

(a) (1)   (b) (2) 

(c) (1) (2) (d) (1) (2) 

98) 

(1)

(2) 

(3) 

(a) (1) (2)  (b) (2) (3) 

(c) (1) (3)  (d) 

(1) 

(2) 

(3) 

(a) (1) (3)  (b) (1) (2) 

(c) (2) (3)  d) (1), (2) (3) 

(Q 100- Q 101) 
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100) Constitutional government enables: 

 

(1) Relation between institution and 

individual. 

(2) With this, the values involved in a 

society can be maintained. 

(3) It acts as a fundamental principle of 

governing the state. 

 

Select the correct answer from the codes 

given below: 

 

(a) (1) and (2) Only 

(b) (1) and (3) Only 

(c) (2) and (3) Only 

(d) All (1), (2) and (3). 

 

101) Which of the following can be said 

to be associated with constitutional 

government? 

 

(1) Its present nature has its genesis in the 

enlightenment.  

 

(2) Various political ideologies to organize 

the state inspired from it.  

Select the correct answer from the codes 

given below: 

 

(a) (1) Only            (b) (2) Only 

 

(c) Both (1) and (2)  (d) Neither (1) nor (2) 

 

 

Directions for (Q 102- Q 105): Read 

the passages and answer the question 

that follow. Your answers should be 

based on the passages only.  

 

The Millennium Development Goals 

(MDGs) are a landmark global agreement 

reached under the United Nations on 

reducing poverty and related deprivations. 

Praised for conveying the need to end 

poverty in a clear and concrete message, 

but decried for undermining efforts to 

build national capacities for development, 

the MDGs have been the subject of 

controversy since their inception in 2001. 

For better or worse, they have influenced 

aid and national development priorities for 

more than a decade. The official debate on 

what should replace the MDGs when they 

expire in 2015, is moving very quickly. 

The UN member states will deliberate the 

post-2015 development agenda at the 

General Assembly meet. Given the 

narrowing window of opportunity for 

public review, it is crucial that the report 

of the UN‘s High-Level Panel on the Post-

2015 Development Agenda, "A New 

Global Partnership", be aired and critiqued 

thoroughly. If the MDGs successors are to 

be as effective as they can realistically be, 

our political leaders must push well 

beyond the framework of this report, 

which will set the terms of the GA‘s 

debate. The 12 goals proposed in the 

report suffer from the same key defects as 

the original MDGs: they are general 

wishes without concrete tasks and 

responsibilities assigned to specific 

competent actors, and they do not meet 

civil society aspirations for inequality 

reduction, systemic reforms of global 

institutions, and a more comprehensive 

view of poverty. 

While the MDGs commendably bring 

focus on poverty and poor people, the are 

goals without commitments. They do not 

include any reference to how they are 

supposed to be achieved or who is 

accountable for achieving them. For 

example, despite the fact that we know 

that the reducing child mortality goal will 

be missed by far, there is no one in 

particular who can be held accountable for 

missing it.  
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100) 

(1) 

(2) 

(3) 

(a) (1) (2)   (b) (1) (3) 

 

(c) (2) (3)    (d) (1), (2) (3) 

 

101) 

(1) 

(2) 

(a) (1)   (b) (2) 

 

(c) (1) (2) (d) (1) (2) 

 

(Q 102- Q 105) 
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102) According to the passage, why 

there are certain debates in and around 

the efficacy of Millenium Development 

Goals? 

(1) Millenium Development Goals are 

highly esoteric on the issue of 

development itself. 

(2) Accountability measures related to 

achieving the target of Millenium 

Development Goals are not very clear. 

(3) Millenium Development Goals are 

commendable but these goals do not 

generate confidence among the public as 

such.  

Select the correct answer from the codes 

given below: 

(a) (1) Only  (b) (1) and (3) Only 

(c) (2) Only  (d) (2) and (3) Only 

 

103) With which of the following author 

is most likely to agree as far as UN 

deliberation on post-2015 development 

agenda is concerned? 

(a) It will give a concrete alternative to the 

development agenda post-2015. 

(b) It will be an exercise practised by 

chosen few. 

(c) It will herald a new era of global 

partnership. 

(d) It will have the same fate as Millenium 

Development Goals. 

 

104) In order to remove the malice 

involved with Millenium Development 

Goals (MDG), what all things need to be 

done? 

 

(1) Remove ever prevalent inequality 

involved in the society. 

(2) Reform of global institutions like 

United Nations.  

(3) Bringing in more transparency and 

ensuring that every party to these goals 

have their voice been heard.  

Select the correct answer from the codes 

given below: 

(a) (1) and (3) Only  (b) (2) and (3) Only 

(c) (1) and (2) Only  (d) (1), (2) and (3). 

 

105) Which of the following can be 

considered as the style of the passage? 

(a) Narrative   (b) Skeptical 

(c) Argumentative  (d) Didactic 

 

Directions (Qs.106-107): Two 

committees of four each have to be formed 

from eight children A, B, C, D, E, F, G 

and H. The children are assigned to two 

groups according to the following 

conditions: 

A cannot be in the group of C. 

B and D must be in one group. 

E and C cannot be in the same group. 

 

106) Which of the following can be the 

members of a committee? 

I. CBDH  II. AEFG 

III. BHDF 

 

(a) I and II Only  (b) I and III Only 

(c) II and III Only  (d) None of these. 

 

107) If D and H cannot be in one group 

then how many different pairs of groups 

can be made? 

 

(a) 2   (b) 3      (c) 4  (d) 5 

 

108) The ratio of the radius of the front 

wheels of an engine to that of its rear 

wheel is 4 : 7. If the engine covers a 

certain distance, which of the following 

statements are true? 

 

I. The ratio of revolution made by front to 

those made by rear wheel is 4 : 7. 

II. The ratio of circumference of the front 

wheel to that of the rear wheel is 4 : 7. 

III. The ratio of area of the front wheel to 

that of the rear wheel is 16 : 49. 

IV. The revolutions made by front wheel, 

if the rear wheel made 2040 revolutions, is 

1151. 

 

(a) I and II Only     (b) II and III Only 

(c) II, III and IV Only    (d) None of these. 
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(1) 

(2) 

(3) 

(a) (1)  (b) (1) (3) 

(c) (2)  (d) (2) (3) 

 
103) 

(a) 

(b) 

(c) 

(d) 

 
104) 

(1) 

(2) 

(3) 

(a) (1) (3)     (b) (2) (3) 

 
(c) (1) (2)     (d) (1), (2) (3) 

 
 

105) 

(a) (b) 

(c) (d)  

 

A, B, C, D, E, F, G H 

A, C 

B D 

E C 

 
106) 

I. CBDH  II. AEFG  III. BHDF 
 
(a) I II  (b) I III 

(c) II III  (d) 

 
107) D H 

(a) 2  (b) 3 (c) 4  (d) 5 
 

4 : 7 

I. 

4 : 7 

II. 

4 : 7 

III. 

16 : 49 

IV. 

(a) I II  (b) II III 

(c) II, III IV  (d)  
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Directions (Qs. 109-112): Karan planted 

some trees in his garden but in a certain 

fixed pattern: 

 

(i) In most of the rows, there are neither 

mango nor Guava. 

(ii) There are two more rows of Banana 

than Papaya and two more rows of Mango 

than Banana. 

(iii) There are four more rows of Mango 

than Papaya.  

(iv) There are not as many rows of Apple 

as Pineapple. 

(v) There is one less Guava row than 

Mango. 

(vi) There is just one row of Papaya and all 

the fruits‘ rows are different in number. 

(vii) The maximum number of rows he 

planted is six.  

 

109. How many rows of Mango he 

planted? 

(a) 2  (b) 5 

(c) 4  (d) Cannot be determined. 

 

110. What is the sum of the rows of 

Guava and Banana? 

(a) 3  (b) 9 

(c) 7  (d) Cannot be determined. 

 

111. How many rows of pineapple did 

he plant? 

(a) 2   (b) 6 

(c) 2 or 6  (d) Data inadequate. 

 

112. How many rows of Apple did he 

plant? 

(a) 2   (b) 6 

(c) 2 or 6  (d) Data inadequate. 

 

Directions (Qs. 113-116): 

 

India is a country of myriad contradictions. 

On the one hand, it has grown to be one of 

the largest economies in the world and an 

increasingly important player in the 

emerging global order, on the other hand, 

it is still home to the largest number of 

people living in absolute poverty (even if 

the proportion of poor people has 

decreased) and the largest number of 

undernourished children. What emerges, is 

a picture of uneven distribution of the 

benefits of growth which many believe, is 

the root cause of social unrest. Companies 

too have been the target of those perturbed 

by this uneven development and as a 

result,their ontributions to society are 

under severe scrutiny. With increasing 

awareness of this gap between the haves 

and the have-nots, this scrutiny will only 

increase over time and societal 

expectations will be on the rise. Many 

companies have been quick to sense this 

development, and have responded 

proactively while others have done so only 

when pushed.Governments as well as 

regulators have responded to this unrest 

and the National Voluntary Guidelines for 

Social, Environmental and Economic 

Responsibilities of Business or the NVGs 

and the CSR clause within the Companies 

Act, 2013 are two such instances of the 

steps taken. This combination of 

regulatory as well as societal pressure has 

meant that companies have to pursue their 

CSR activities more professionally. This 

handbook attempts to bring together good 

practices of companies and grant-making 

foundations so as to assist companies 

pursue their CSR activities effectively, 

while remaining aligned with the 

requirements of the Companies Act, 2013. 

CSR in India tends to focus on what is 

done with profits after they are made. On 

the other hand, sustainability is about 

factoring the social and environmental 

impacts of conducting business, that is, 

how profits are made. Hence, much of the 

Indian practice of CSR is an important 

component of sustainability or responsible 

business, which is a larger idea, a fact that 

is evident from various sustainability 

frameworks. 
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: 

(i) 

(ii) 

(iii) 

(iv) 

(v) 

(vi) 

(vii) 

109) 

(a) 2  (b) 5 (c) 4 

(d) 

110) 

(a) 3 (b) 9  (c) 7 

(d) 

 

111) 

(a) 2   (b) 6 

(c) 2 6  (d) 

 

112) 

(a) 2   (b) 6 

(c) 2 6  (d)  

 

(Q 113- Q 116) 
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113) According to the author, what is 

the expected role of CSR in India? 
(1) Promoting environment friendly and 

sustainable business. 

(2) Spending large chunk of their profits 

on social development. 

(3) Doing business but voluntary involved 

with social and economic development 

also. 

Select the correct answer from the codes 

given below: 

(a) (1) and (3) Only (b) (1) and (2) Only 

(c) (2) and (3) Only (d) (3) Only 

 

114) Which of the following can be 

roperly inferred about Companies Act, 

2013? 

(1) It tries to resolve the uneveness in the 

society through CSR clause. 

(2) It is truly on the lines of societal 

expectations. 

(3) It is making it mandatory for 

companies to do CSR activities.  

Select the correct answer from the codes 

given below: 

(a) (1) and (3) Only  (b) (1) and (2) Only 

(c) (3) Only   (d) (2) and (3) Only 

 

115) Which of the following can be 

correctly portrayed as an example of 

India as a country of Myriad 

contradictions? 

(a) Swelling profits of Indian companies 

but their least concern about society. 

(b) Companies earning huge profit at the 

cost of environment. 

(c) Different law in India to promote 

business but no law to promote welfare of 

society. 

(d) One side of the road filled with global 

corporations and the other with slum area. 

 

116) Not only government but 

corporations should also be worried 

about uneven development in India, 

why? 

(a) As uneven development leads to 

unnecessary societal expectations which 

even companies cannot fulfill.  

(b) The resultant effect of uneven 

development is a gap in the society which 

any corporations cannot fulfill. 

(c) As uneven development can raise 

doubts or raise questions on companies 

abilities to 

contribute towards the society. 

(d) Since uneven development may prompt 

government to make those CSR laws 

which 

makes it mandatory for any company to 

follow. 

 

Directions (Qs. 117-120): 

 
Widows, deserted, separated, abandoned, 

walked out,thrown out, older and younger 

unmarried single women remain unrecognised 

by both the society and government.The most 

‗forgotten‘ women of the country, there is very 

little information available on their numbers 

and even less information on how they 

survive. According to the 2002 census, there 

are 39.8 million single women in the country. 

The National Forum for single women‘s rights 

is a collective of more than 50,000 women 

across different states that organises, struggles 

and lobbies with governments for their rights. 

These are widows, separated, divorced, 

unmarried mothers, women whose husbands 

are missing and those single women living 

with HIV/AIDS. In short, ―A woman who is 

not living with a man in a marital-like 

relationship.‖The women came together as a 

collective to reiterate not only their demand to 

constitutional rights, but also to fight against 

the feudal and atriarchal society that denies 

them a dignified   existence. The organisation 

includes woman like Sharifa from 

Ahmedabad, who fights with maulanas for 

abolishment of iddat (customary home 

confinement) for divorced Muslim women and 

government officials in Gandhinagar who 

refuse to release grains sanctioned for widows. 

The organization also includes woman like 

Saraswati from Jharkhand, who has first hand 

witnessed the Adivasi‘s ‗daayan’ pratha 

where widows are branded as witches and 

ostracised by the community. And this is to 

curb her from claiming her property rights 

after her husbands‘s death. 
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113) 

(1) 

(2) 

(3) 

(a) (1) (3)  (b) (1) (2) 

(c) (2) (3)  (d) (3) 

 
114) 

(1) 

(2) 

(3) 

(a) (1) (3)  (b) (1) (2) 

(c) (3)   (d) (2) (3) 

 
115) 

(a) 

(b) 

(c) 

(d) 

 
116) 

(a) 

(b) 

(c) 

(d) 

 

(Q 117- Q 120) 

 (

) 
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117) Which one of the following 

statements conveys the key message of 

the passage? 

 

(a) The most unforgotten women of the 

country are the ones who remain 

unrecognised by both the society and 

government. 

(b) Pathetic condition of single women in 

the country. 

(c) Insensitivity of society and government 

towards single women. 

(d) A significant portion of the female 

population that finds no mention in 

government agendas are single women. 

 

118) According to the passage, “a 

woman who is not living with a man in a 

marital like relationship” can be– 

 

(a) Unmarried woman whose husbands are 

missing.  

(b) Sex-workers living with HIV/AIDS 

(c) Single mothers 

(d) Adivasi unmarried woman 

 

119) With reference to the passage 

which of thefollowing statements is/are 

true– 

(i) Feudal and patriarchal societies have 

denied a dignified existence to women. 

(ii) The National Forum for single 

women‘s rights struggles and lobbies with 

the government for their constitutional 

rights and protection against the feudal and 

patriarchal society that denies them a 

dignified existence. 

 

Select the correct answer from the 

following code– 

(a) Only (i)            (b) Only (ii) 

(c) Both (i) and (ii)   (d) Neither (i) nor (ii) 

 

120) Customary laws like “iddat” and 

“daayan pratha”are not allowing– 

 

(a) Emancipation of a woman not living 

with a man in a marital-like relationship 

from the clutches of the dogmatic society 

which denies then equality. 

(b) Widowed muslim women to access 

grains sanctioned for them in Gujarat. 

(c) Adivasi women in Jharkhand to enjoy 

their constitutional right to property. 

(d) Contribution of unmarried single 

women in nation-building. 

 

Directions (Qs. 121-124): 

 
Global economic integration is not a new 

phenomenon. Some communication and trade 

took place between distant civilizations even 

in ancient times. Since the travels of Marco 

Polo eight centuries ago, global economic 

integration—through trade, factor movements, 

and communication of economically useful 

knowledge and technology—has been on a 

generally rising trend. This process of 

globalization in the economic domain 

has not always proceeded smoothly. Nor has it 

always benefited all whom it has affected. But, 

despite occasional interruptions, such as 

following the collapse of the Roman 

Empire or during the interwar period in last 

century, the degree of economic integration 

among different societies around the world has 

generally been rising. Indeed, during the past 

half century, the pace of economic 

globalization has been particularly rapid. And, 

with the exception of human migration, global 

economic integration today is greater than it 

ever has been and is likely to be deepen as 

going forward.  Three fundamental factors 

have affected the process of economic 

globalization and are likely to continue driving 

it in the future. First, improvements in the 

technology of transportation and 

communication have reduced the costs of 

transporting goods, services, and factors of 

production and of communicating 

economically useful knowledge and 

technology. Second, the tastes of individuals 

and societies have generally, but not 

universally, favored of in taking advantage of 

the opportunities provided by declining costs 

of transportation and communication through 

increasing economic integration. Third, public 

policies have significantly influenced the 

character and pace of economic integration, 

although not always in the direction of 

increasing economic integration. 
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(a) 

(b) 

(c) 

(d) 

(a) 

(b) 

(c) 

(d) 

(i) 

(ii) 

(a) (i)             (b) (ii) 

(c) (i) (ii) (d) (i) (ii) 

(a) 

(b) 

(c) 

(d) 

(Q 121- Q 124) 

Communication) 
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121. According to passage, what can we 

say about globalization through 

economic integration? 

(a) It was not prevalent in ancient times. 

(b) It was accepted openly in all the time. 

(c) It has benefited large group of people 

all over the world. 

(d) Though not new but its roots are 

getting stronger and stronger. 

 

122. Economic globalization can be 

improvise of through which of the 

following? 

(1) Advancement in communication 

methods.  

(2) By unleashing the potential of 

transportation for economic integration. 

(3) Public policy for economic integration. 

 

Select the correct answer from the codes 

given below: 

(a) (1) Only           (b) (1) and (3) Only 

 

(c) (1) and (2) Only (d) All (1), (2) and (3). 

 

123. Which of the following can be 

inferred as the acceptability of global 

economic integration that has been 

going on since centuries? 

 

(1) Society taking advantage of 

opportunity thrown by economic 

integration again and again. 

(2) Proliferation in the level of knowledge 

through economic integration itself. 

Select the correct answer from the codes 

given below: 

(a) (1) Only           (b) (2) Only 

 

(c) Both (1) and (2) (d) Neither (1) nor (2) 

 

124. This passage is most likely to be an 

except in from? 

 

(a) A Journal of economics. 

(b) History of economic integration. 

(c) Globalization and its discontent. 

(d) Economic impact of globalization. 
 

125) Two trains starting at the same 

time from A and B and moving towards 

each other. When they meet then it was 

found that one moves 10 km more than 

other then find the distance between A 

and B? If their speeds are 50 km/hr and 

60 km/hr? 

 

(a) 60 km  (b) 50 km 

(c) 10 km  (d) 110 km 

 

Directions (Qs. 126-128): Read the table 

given below carefully answer the 

following question:In the following table, 

number of cars exported by Ford motors in 

different countries in different years is 

given. 

 
Year/ 

Countries 
2008 2009 2010 2011 2012 2013 Total 

India 75 80 70 90 95 92 502 

Japan 20 25 15 18 20 22 120 

Engl 50 60 70 80 90 95 445 

China 90 92 94 95 98 100 569 

Pak 10 15 17 18 20 25 105 

Sri. L 30 35 40 45 50 60 260 

Total 275 307 306 346 373 394 2001 

 
(All numbers are in '000 units) 
 

126. In which year approximately 30% of 

total export of cars is equal to total cars 

exported to Japan during the given period? 

 

(a) 2010   (b) 2011 

(c) 2012   (d) 2013 

 

127. Which of the following country – year 

pair almost resembles with the 5% of the 

total cars exported by Ford motors in given 

countries during the given time period? 

 

(a) India – 2013   (b) England – 2013 

(c) China – 2012   (d) China – 2013 

 

128. How many pairs of two countries are 

there where total number of cars exported 

combinedly is more than 50% of total cars 

exported during the given time period in all 

the countries? 

(a) 1     (b) 2        (c) 3        (d) 4 
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121) 

(a) 

(b) 

(c) 

(d) 

 

122) 

(1) 

(2) 

(3) 

(a) (1)           (b) (1) (3) 

 

(c) (1) (2)  (d) (1), (2) (3) 

 

123) 

(1) 

(2) 

(a) (1)   (b) (2) 

(c) (1) (2) (d) (1) (2) 

 

124) 

(a) 

(b) 

(c) 

(d)  

125) A B 

A B 

(a) 60 (b) 50 

(c) 10 (d) 110  

 

 

 2008 2009 2010 2011 2012 2013  

 75 80 70 90 95 92 502 

 20 25 15 18 20 22 120 
 50 60 70 80 90 95 445 

 90 92 94 95 98 100 569 
 10 15 17 18 20 25 105 

 30 35 40 45 50 60 260 

275 307 306 346 373 394 2001 
 

126) 

30% 

(a) 2010     (b) 2011 (c) 2012     (d) 2013 
 

127) 

(a) – 2013  (b) – 2013 

(c) – 2012  (d) – 2013 

 

128) 

(a) 1  (b) 2 (c) 3  (d) 4
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129) Complete the series 

 1, 2, 3, 4, 5, 16, 7, 25, _ 

 

(a) 9   (b) 11 

(c) 30   (d) None of these. 

 

Directions for (Q 130-135) : Decision 

making question, so there is no negative 

marking for these 8 questions. 
 

130) You are a newly appointed police 

officer in a state.This state is not your 

domestic state and you do not know the 

vernacular language of this state. You 

are posted in a department where all 

your subordinates and seniors 

communicate in the vernacular 

language itself. What would be your 

most appropriate strategy in this 

condition? 

 

(a) Will request other senior officers in the 

department to give you a buffer time to 

understand local language before you take 

the responsibility of your new posting. 

(b) Will take over the responsibilities of 

new positing and request few subordinates 

to help you in understanding local 

language. 

(c) Will take over the responsibilities of 

new posting and observe the nuances of 

local language by carefully observing your 

subordinates and seniors in the 

department. 

(d) Will ask your department to put your 

posting on hold as it would be impossible 

for you to work in a office where you do 

not know your colleague‘s language. 
 

131) Anubhav, is a block development 

officer, he comes across a situation 

where he found that a government 

sponsored scheme under which a limited 

amount of fund for every block is 

alloted by government that need to be 

distributed as scholarship to girls 

studying in high schools. This fund is 

getting lapsed for the past 3 years as 

neither block identify the beneficiary 

nor village girls students demanded for 

it due to lack of awareness. What would 

be your communication strategy to 

handle this situation? 

 

(a) Communicate to your officials in 

written, strictly that this fund should not be 

lapsed this year. 

(b) Conduct a communicative workshop 

on ―Scholarship given by government‖ at 

various schools in your block. Will ask 

your other officials to join you in the 

workshop. 

(c) Request Gram Panchayat and schools 

to encourage girls about this scheme and 

demand scholarship on their own. 

(d) Start a communicative campaign on 

girl education at every village in your 

block. 
 

132) You are working as one of the 

senior administrator in the land revenue 

department of a state government. For 

the past few months, an RTI activist has 

been crusading against the corruption in 

your department. No remedial action 

has been taken so far by your 

department, now the RTI activist has 

accused that senior officials are hand in 

glove in corrupt practices. He also seeks 

clarification on various issues from the 

department and is preparing to go to 

court. Your department has asked you 

to prepare a replying letter to the RTI 

activist. What would be appropriate 

communication strategy in this issue?  

 

(a) Ask RTI activist to have patience 

before any remedial action is taken by 

department. 

(b) Request RTI activist to assist you and 

your department to clean up the system, 

before taking any further decision. 

(c) Reply back all the queries of RTI 

activist, and defending your department by 

quoting that no corruption case is under 

scanner in your department. 

(d) Ask RTI activist to submit more proofs 

for his charges of corruption in your 

department. 
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129) 

1, 2, 3, 4, 5, 16, 7, 25, _ 
 
(a) 9   (b) 11 
(c) 30   (d) 

Decision making question, so there is no 

negative marking for these 8 questions. 

 

130) 

(a) 

(b) 

(c) 

(d) 

(a) 

(b) 

(c) 

(d) 

 

(a) 

(b) 

(c) 

(d) 
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133) You are working as Income-Tax-

officer and your promotion is due for 

the past 3 years but your immediate 

senior who is supposed to have a final 

word in your confidential report is least 

cooperative and declining your 

promotion. What would be your further 

immediate action in this situation? 

 

(a) Will go to court to get your much 

deserved promotion. 

(b) Will request your senior officially to 

look into your promotion matter seriously. 

(c) Will go to higher income tax authority 

and divulge them about the situation. 

(d) Will do nothing in this situation. 

 

134) Kavita is a banking veteran with 

more than 3 decades of experience in the 

banking industry. She has been 

appointed as General manager of the 

bank. She is going to be the first women 

general manager in the bank‟s history. 

But, her two male colleagues who were 

senior to her raised their voice against 

Kavita‟s promotion they accused the 

bank management boards to be unfair 

to them in the name of gender 

empowerment and neglecting their 

seniority and suitability for the general 

manager‟s position. What should Kavita 

do in this situation? 

 

(a) She should relinquish her promotion as 

general manager. 

(b) She should request the bank 

management board to make one of her 

male colleague as general manager.  

(c) She should have a conversation with 

two male colleague and explain them 

about her promotion as general manager. 

(d) She should accept her promotion as 

general manager and do nothing else. 

 

 

 

 

 

 

135) You are working as Personal 

Relation Officer (PRO) of a state owned 

telecom company. Of late, you come 

across a webpage in a social networking 

website, where a few customers of the 

company are showing their grievances 

about the company policy and services. 

After reading all these messages on the 

webpage what would be your most 

appropriate communication technique 

in this situation? 

 

(a) You will reply back to every message 

and defend company policies. 

(b) You will reply back to those messages 

and give confidence to aggrieved 

customers that appropriate action will be 

taken. 

(c) You will post your personal number in 

those messag es and ask those customers 

to contact you immediately. 

(d) Since, these are not the official 

grievances and are posted on social 

networking website, you will not do 

anything. 
 

 

. 
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(a) 

(b) 

(c) 

(d) 

(a) 

(b) 

(c) 

(d) 

(a) 

(b) 

(c) 

(d) 
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Space for Rough Work 
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जफ तक आऩको मह ऩयीऺण ऩुस्ततका खोरने को न कहा जाए तफ तक न खोरें 

 
 

                 BARTI-UPSC- RC-CET- 2016 

 

Sm°. ~m~mgmho~ Am§~oSH$a g§emoYZ Ed§ n«{ejU g§ñWm, ऩुणे 

AZw_V g_` - 3 K§Qo                                                                                            A{YH$V_ A§H$ : 300 

बाग - I (जी एस) औय बाग - II (सी सैट)  

सूचनाएॉ 
1. ऩयीऺा प्रायम्ब hmoZo Ho$ Vwa§V ~mX, Amn Bg प्रश्न nw{ñVH$m की ऩड़तार अवश्म कय रें कक इसभें कोई बफना 

छऩा , पटा मा छूटा हुआ ऩषृ्ठ आदद न हो  & मदद ऐसा है , तो इस ेसही प्रश्न ऩुस्ततका स ेफदरन ेHo$ {bE 
AZwamoY {H$OrE & 

2. Bg प्रश्न nw{ñVH$m _o§ {XE JE ~m°Šg _o§ AmnH$mo AmnH$m ñWmZ H«$_m§H$ {bIZm h¡ & प्रश्न nw{ñVH$m na औय 

Hw$N न लरखें & 
3. Bg प्रश्न nw{ñVH$m _o§ {ZåZ{bIrV Xmo {hñgmo _o§ ~mQo JE 935  gdmb h¡ & 

बाग gdmbmo§ H$r g§»`m A§H$ नकायात्भक अॊक 
I 75 150 ha JbV  उत्तय Ho$ {bE EH$ {VhmB© 

II 60 150 प्रश्न H«$. 130 go 935 H$mo NmoSH$a  ha JbV उत्तय Ho$ {bE EH$ {VhmB©  
ha gdmb अॊगे्रजी Ed§ {h§Xr _o§ {X`m h¡ & 

ha gdmb _o§ Mma CÎma ददए गए  h¡ & इनभ ेस ेएक उत्तय को चनु रें , स्जसे आऩ ऊत्तय ऩबिका ऩय अॊककत 
कयना चाहत ेहैं ¡ & मदद आऩको ऐसा रगे कक एक स ेअधधक उत्त्तय सही है¡ Vmo Cg_o go AmnH$mo Omo gdmo©Îm_  
ghr bJVm h¡ Cgo अॊककत {H$OrE & {H$gr ^r hmbV _o§ ha gdmb H$m {g\©$ EH$ hr ऊत्तय Mw{ZE & 
 

4. AmnH$mo AbJ go {XE JE Amo E_ Ama Odm~ nÌH$ na hr AnZ o g^r  ऊत्तय EH$ Ho$ ~mX EH$ अॊककत H$aZo h¡  
5. प्रश्न nw{ñVH$m Ho$ Odm~ nÌH$ Ho$ {d{^Þ _wÔmo Ho$ Odm~ H$mo अॊककत H$aZo Ho$ {bE AmJo ~TZo go nhbo, 

AmnH$mo AmnHo$ प्रवेशऩि _o§ {XE JE gyMZm Ho$ AZwgma ऊत्तय nÌH$ _o§ Hw$N {ddaU ^aZo hmo§Jo & 

6. ऊत्तय nÌH$ na AmnHo$ g^r ऊत्तय (प्रनतकिमा चि H$mo nyar Vah go JmTm H$aHo$) को अॊककत  H$aZo Ho$ ~mX 
Am¡a ऩयीऺा g_má hmoZo Ho$ ~mX Amo E_ Ama ऊत्तय nÌH$ {ZarjH$ H$mo XoZm h¡ & प्रश्न nw{ñVH$m bo OmZo H$r 
AmnH$mo AZw_Vr h¡ & 

7. प्रश्न nw{ñVH$m Ho$ A§V _o§ a\$  dH©$ Ho$ {bE Hw$N n¥ð  g§b½Z h¡ & 

8. JbV ऊत्तय Ho$ {bE दॊड : 

ऩयीऺाथी© Ho$ gdmb 130 go 935 VH$ Ho$ प्रश्न NmoSH$a JbV ऊत्तय H$mo अॊककत H$aZo na दॊड होगा, Am¡a 
gdmb 130 go 935 Ho$ JbV ऊत्तय Ho$ {bE H$moB© दॊड  Zhr§ होगा & 

i. ha gdmb Ho$ {bE Mma {dH$ën {XE JE h¡ & ऩयीऺाथी Zo {XE ha प्रश्न Ho$ JbV ऊत्तय XoZo na, Cg 
प्रश्न Ho$ A§H$  go EH$ {VhmB© A§H$ दॊड Ho$ én _o§ KQmE± OmE§Jo & 

ii. ऩयीऺाथी न ेAJa EH$ go Á`mXm ऊत्तय {XE Vmo, Cg_o go EH$ Odm~ ghr hmoZo Ho$ ~mdOyX Cgo JbV 
ऊत्तय g_Pm OmEJm Am¡a Cna {XE JE AZwgma Cgo दॊड hmoJr & 

iii. AJa H$moB© gdmb Imbr NmoS {X`m J`m, _Vb~ ऩयीऺाथी न ेऊत्तय Zhr§ {X`m, Vmo CgHo$ {bE Cg 
प्रश्न H$mo H$moB© दॊड  Zhr§ होगा  & 
 

9. Bg ऩयीऺा  Ho$ A§{V_ ZVrOo h_mao do~gmB©Q https://barti.maharashtra.gov.in na Kmo{fV {H$E OmE§Jo§ & 

ध्मान दें: gyMZm H$m अॊगे्रजी énm§Va Bg प्रश्न nw{ñVH$m Ho$ ऩह्रे n¥ð na छऩा h¡ & 

 

ñWmZ H«$_m§H$ - 


